
A2 – U1 L3 Exit Ticket – Name: ______________________________________________ Hour: ______  

Factor the following expressions using the Difference of Squares Formula : 𝑎ଶ − 𝑏ଶ = (𝑎 + 𝑏)(𝑎 − 𝑏) 

1.  𝑥ଶ − 100  Answer :__________________________ 

2.  9 − 𝑥ଶ  Answer :__________________________ 

3.  𝑥ଶ − 36  Answer :__________________________ 

4. 121 − 𝑥ଶ  Answer :__________________________ 

The following 5 problems will need to be factored twice. First you’ll factor out the GCF, then you’ll factor 
using a difference of squares. 

5.  3𝑥ଷ − 75𝑥   

 

 

6. 5𝑥ସ − 80𝑥ଶ  

7.  2𝑥ଶ − 242  

 

 

8. 3𝑥ହ − 27𝑥  

 

 

 


